

St. Louis County, Minnesota



Date of Report: 4/29/2025 4:33:05 PM

				General De	etails					
Parcel ID:		141-0020-03	195							
Document:		Abstract - 791657								
Document Date	e:	06/19/2000								
			Leç	gal Descriptio	on Details					
Plat Name: HIBBING										
Sec	ction	Т	ownship	R	Range	L	ot	Block		
2	24		57		20		-	-		
Description:		ELY 455 FT	OF SE1/4 OF S							
				Taxpayer D	etails					
Taxpayer Name	e	HENDRICKS		_						
and Address:			CE SHADOWS R	D						
		HIBBING M	N 55746							
				Owner Det	tails					
Owner Name		HENDRICKS	SON DALE							
			Paya	able 2025 Tax	Summary					
		2025 - N	et Tax	ax \$1,258.00						
		2025 - S	pecial Assessme	al Assessments \$0.00						
		2025 -	Total Tax &	Special Asse	ssments	\$1,258.	00			
				t Tax Due (as		5)				
	Duo May 15			•		2) 	Total Due			
Due May 15 Due October 15										
2025 - 1st Ha	alf Tax	\$629.0	00 2025 - 21	nd Half Tax	\$62	2025	\$0.00			
2025 - 1st Ha	alf Tax Paid	\$629.0	0 2025 - 2nd Half Tax Paid		\$62	29.00 2025	- 2nd Half Tax Due	\$0.00		
2025 - 1st Ha	alf Due	\$0.0	 2025 - 2nd Half Due			<u></u>	- Total Due	\$0.00		
				Parcel Details						
Property Addre	000	2025 SDDI (	CE SHADOWS R		ans					
School District		701								
Tax Increment		-								
Property/Home		HENDRICKS	SON, DALE							
			Assessme	nt Details (20	25 Payable 2	2026)				
Class Code	Homes		Land EMV	Bldg	Total EMV	Def Land	Def Bldg	Net Tax		
(Legend)	1 - Owner Hom		\$44,700	<b>EMV</b> \$79,400	\$124,100	<b>EMV</b> \$0	<b>EMV</b> \$0	Capacity		
201	(100.00% total)									
201	(100.00 % 101a)	Total:	\$44,700	\$79,400	\$124,100	\$0	\$0	887		



St. Louis County, Minnesota



## Date of Report: 4/29/2025 4:33:05 PM

				Land D	etails			
Dee	ded Acres:	13.82		Lana D				
	erfront:	-						
		0.00						
Water Front Feet: 0.00 Water Code & Desc: W - DRILLEI			1					
	Code & Desc:		_L					
		- S - ON-SITE SANI		= N 4				
		0.00	TARTSTOIL					
	Depth:	0.00						
	•		n vov quality /	dditional lat	information can be	found at		
https	dimensions shown are no s://apps.stlouiscountymn.	gov/webPlatslframe/frr	nPlatStatPop	Up.aspx. If t	here are any quest	ions, please email PropertyT	ax@stlouiscountymn.gov	
		h	nproveme	ent 1 Deta	ils (N AMERIC	AN)		
I	mprovement Type	Year Built Main		Floor Ft <sup>2</sup> Gross Area		Basement Finish	Style Code & Desc	
MANUFACTURED HOME		1974	86	8	868	-	SGL - SGL WIDE	
Segment BAS DK DK		Story	Width	Length	Area	Foundat	ion	
		1	14	62	868	FLOATING	SLAB	
		0	10	10	100	POST ON GF	ROUND	
		1	6	8	48	POST ON GF	UND	
	Bath Count Bedroom		ount Roon		Count	Fireplace Count	HVAC	
	1 BATH 2 BEDR		1S -			-	CENTRAL, FUEL OIL	
			Improv	ement 2 [	Details (28X40)			
1	mprovement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc	
GARAGE		1989	1,120		1,120	-	DETACHED	
	Segment Story   BAS 1		Width Leng 28 40		Area	Foundat		
					1,120	FLOATING	SLAB	
	L		Improv	ement 3 [	Details (24X24)			
Improvement Type GARAGE		Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc	
		1994	57	6	576		DETACHED	
	Segment Story		Width			Foundat		
	BAS 1		24	24	576	FLOATING	TING SLAB	
				ent 4 Deta	ails (12X20 SH			
1	mprovement Type	Year Built	-		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc	
STORAGE BUILDING		1994	Main Floor Ft <sup>2</sup> 240		240	-	-	
0	Segment Story		Width Length			Foundat	ion	
	BAS 1		12 20		240	POST ON GF		
	Brio							
			-		etails (ST 16X2	•		
	mprovement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc	
S	TORAGE BUILDING	0	384	4	384	-	-	
	Segment	Story	Width	Length	Area	Foundat		
	BAS	0	8	16	128	FLOATING	SLAB	
	BAO	Ŭ	•		-		I	







Date of Report: 4/29/2025 4:33:05 PM

		Improvem	ent 6 Detai	ils (METAL CP	T)				
Improvement Type	e Year Built	Main Fl	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Baser	nent Finish	Style	Code & Desc.	
CAR PORT	0	60	00	600		-		-	
Segmen	t Stor	y Width	Length	Area		Foundat	ion		
BAS	0	20	30	600	600 POST ON C				
		Improve	ement 7 Det	tails (ST 8X20)					
Improvement Type	e Year Built	Main Fl	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Baser	nent Finish	Style	Code & Desc.	
STORAGE BUILDIN	G 0	16		160		-		-	
Segmen	t Stor	y Width	Length	Area		Foundat			
BAS	0	8	20	160		POST ON G	ROUND		
		Improvem	ent 8 Detai	ils (METAL CP	T)				
Improvement Type	e Year Built	Main Fl	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Baser	nent Finish	Style	Code & Desc.	
CAR PORT	0	28	36	286		-		-	
Segmen	t Stor	y Width	Length	Area		Foundat			
BAS	0	11	26	286		POST ON G	ROUND		
		Improvem	ent 9 Detai	Is (VINYL SHE	D)				
Improvement Type	e Year Built	Main Fl	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Baser	nent Finish	Style	Code & Desc.	
STORAGE BUILDIN	G 0	9	6	96		-		-	
Segmen	t Stor	y Width	Length	Area		Foundat	ion		
BAS	BAS 0		8 12 96				POST ON GROUND		
		Sales Reported	I to the St.	Louis County	Auditor				
Sale	e Date		Purchase I	Price		CRV	Number		
07/	/1989		\$0			ç	9090		
		A	ssessment	History					
	Class	Land	Dist	. т.,	-1	Def	Def	Not Tou	
Year	Code ( <mark>Legend</mark> )	Land EMV	Bidg EMV			Land EMV	Bldg EMV	Net Tax Capacity	
	201	\$51,300	\$88,40	00 \$139	700	\$0	\$0	-	
2024 Payable 2025	Total	\$51,300	\$88,40	00 \$139	700	\$0	\$0	1,057.00	
	201	\$51,300	\$81,90	00 \$133	200	\$0	\$0	-	
2023 Payable 2024	Total	· · ·	\$81,9			\$0	\$0	1,079.00	
	201	\$43,600	\$58,50	00 \$102	100	\$0	\$0	-	
2022 Payable 2023	Total		\$58,50			\$0	\$0	740.00	
	201	\$40,300	\$55,90	00 \$96,	200	\$0	\$0	-	
2021 Payable 2022	Total	\$40,300	\$55,90	00 \$96,	200	\$0	\$0	676.00	
		-	Tax Detail H	listory					
Tax Year	Tax	Special Assessments	Total Tax Specia Assessme	I	_and MV	Taxable Build MV		al Taxable M	
2024	\$1,376.00	\$0.00	\$1,376.0			\$66,373		\$107,948	
2023	\$1,046.00	\$0.00	\$1,046.0			\$42,428		\$74,049	
2022	\$974.00	\$0.00	\$974.0	0 \$28,	326	\$39,292		\$67,618	







Date of Report: 4/29/2025 4:33:05 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.